SHEEE E2E BARS

— # BHEFY | FAEHR ABGHEE
BEMAE 1 OAN| 0.0 {&
EEd 1 TN 1.0 &
finid 1 2N 20 {&
XS 2 TA| 0.5 &
= RO 6 20N 3.3 =
SRQ w® 1 5 AN 5.0 f%
SRQ wm) 5 2N 0.4 f%
ER@ w® 2 7AN| 3.5 {&
18 ET 2 2N 1.0 &
IINER 1 TA|] 1.0 &
A RHET 1 2N 20 &

il 23 43N] 1.9 {&

ZRIE SEFRH | RAEYR ABRGEEE
EEQ 2 OAN 00 fZ

it 2 OAN 0.0 fZ

&5k SEFH | FIAEH ABRGEER

¥ #th BT 2 ANl 3.0 f&
(116 1 Al 0.0 fE
FiEd 2 Al 0.0 fE
= R0E 1 ANl 3.0 f&
2RO 1 Al 0.0 f&
H Ji ANl 1.3 &
BT SEFH | HABH (ABGHEfEE
=2 R0 1 4N 40 =
it 1 4N 40 =
BB E SEFH | RIAEH ABGCHEER
=6 1 OAN| 0.0 =
it 1 OAN| 0.0 =

& & | 34 |5 A 1.6 {&




